Lesson 12.1: The Polar Coordinate System

Polar Coordinates:
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Find other polar coordinates (r, 8) of the point for which:
a) r>0 —2r<06<0
b) <0, 0560<2nm
c) r>0, 2n <0 <4n

@ (3,-37)




Find other polar coordinates (r, 8) of the point for which:
a) r>0 —2r<06<0
b) <0, 0560<2nm
c) r>0, 2n <0 <4n

@ (4, ~2n)







Convert to Rectangular Coordinates.
X =1cos6f

(_3 Z_R) ’ y =rsinf




Convert to Rectangular Coordinates.

X =1rcosf

) y =rsiné




Convert to Polar Coordinates.
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Convert to Polar Coordinates.
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Write the equation using polar coordinates.

3xy =2
2(y c059) (rs109) =2

[ 3rtcosy Sino= 2|

X < 1rcosf
y Z 1rsin
x4+ y% =



Write the equation using polar coordinates.

2x = y*

L
2vCoso =(V %mb)

. X
;V'Cas‘& srigwm o

X =1rcosf

=71siné




Write the equation using rectangular coordinates.

¥ 21 = cosf-r X =1cosf
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Write the equation using rectangular coordinates.

(V=0)
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